Chapter 6.1 Notes
Composite Functions

1. Given f(x) = 3x and g(x) = 3)2’l + 5, find the following expressions.
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2. Given f(x) = 5xa- 4andg(x)=5-1/2 x% find the following expressions.
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3. Given f(x) = 6 k and g(x) = 2x , find the following expressions.
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4. Given f(x) = |x| and g(x) = 2 , find the following expressions.
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5. Iff(x) = x + 4 and g(x) = 3, then which of the following does (fe g)(x) equal?
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6. Find functions f and g so that fog = H.
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* To go from H to f(x) and g(x) you must

Q o 8 - \-—\- think backwards from what you were
doing in the previous questions.
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7. Find functions f and g so that fog = H.

k= (ay+l)

Foq = H
3 * To go from H to f(x) and g(x) you must
\_ think backwards from what you were
> 01‘\(, _\__\ doing in the .pre\./iogs questiong.
\L * The expression inside the () will be the

= Lotfw\\f" so:[Fey = (X)¢
Jee) = AV+)

8. Find functions f and g so that f g = H.
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